Q1 What was the highest GBC degree/certificate you obtained between fall 2023 and summer 2024?

Answered: 103 Skipped: 0

	CERTIFICATE OF ACHIEVEMENT	ASSOCIATE DEGREE	BACHELOR'S DEGREE	TOTAL
Q1: Certificate of Achievement	100.00% 17	0.00%	0.00%	16.50% 17
Q1: Associate degree	0.00% 0	100.00% 56	0.00%	54.37% 56
Q1: Bachelor's degree	0.00%	0.00%	100.00% 30	29.13% 30
Total Respondents	17	56	30	103

Q2 With which campus location were you mainly associated?

Answered: 100 Skipped: 3

	ELKO	ELY	ONLINE	PAHRUMP	WINNEMUCCA	TOTAL
Q1: Certificate of Achievement	23.53% 4	0.00%	17.65% 3	11.76% 2	47.06% 8	17.00% 17
Q1: Associate degree	38.89% 21	9.26% 5	33.33% 18	7.41% 4	11.11% 6	54.00% 54
Q1: Bachelor's degree	41.38% 12	0.00%	48.28% 14	3.45% 1	6.90% 2	29.00% 29
Total Respondents	37	5	35	7	16	100

Q3 Did you pursue employment related to your major?

Answered: 101 Skipped: 2

	YES	NO	TOTAL
Q1: Certificate of Achievement	76.47%	23.53%	16.83%
	13	4	17
Q1: Associate degree	47.27%	52.73%	54.46%
	26	29	55
Q1: Bachelor's degree	86.21%	13.79%	28.71%
	25	4	29
Total Respondents	64	37	101

Q4 Are you currently employed in a field related to your major?

Answered: 45 Skipped: 58

	YES	NO	TOTAL
Q1: Certificate of Achievement	88.89%	11.11%	20.00%
	8	1	9
Q1: Associate degree	50.00%	50.00%	35.56%
	8	8	16
Q1: Bachelor's degree	65.00%	35.00%	44.44%
	13	7	20
Total Respondents	29	16	45

Q6 Please rate your satisfaction with your overall GBC experience:

Answered: 63 Skipped: 40

Quality of your program								
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67%	0.00%	22.22%	11.11%	0.00%	14.29% 9		1.7
Q1: Associate degree	33.33%	63.33%	0.00%	3.33%	0.00%	47.62% 30		1.
Q1: Bachelor's degree	62.50% 15	33.33% 8	4.17% 1	0.00%	0.00%	38.10% 24		1.4
Quality of instruction								
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67% 6	11.11% 1	0.00%	11.11% 1	11.11% 1	14.29% 9		1.8
Q1: Associate degree	30.00%	63.33% 19	3.33%	3.33%	0.00%	47.62% 30		1.8
Q1: Bachelor's degree	66.67% 16	29.17% 7	4.17% 1	0.00%	0.00%	38.10% 24		1.3
Instructors' knowledge of subje	ect area							
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67% 6	11.11% 1	11.11% 1	11.11% 1	0.00%	14.29% 9		1.
Q1: Associate degree	40.00% 12	53.33% 16	3.33%	3.33%	0.00%	47.62% 30		1.
Q1: Bachelor's degree	75.00% 18	20.83% 5	4.17% 1	0.00%	0.00%	38.10% 24		1.
Availability of required courses								
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	55.56%	22.22%	11.11%	11.11%	0.00%	14.29% 9		1.
Q1: Associate degree	30.00%	56.67% 17	13.33%	0.00%	0.00%	47.62% 30		1.8
Q1: Bachelor's degree	70.83%	25.00% 6	4.17%	0.00%	0.00%	38.10% 24		1.3
Your proficiency in your major	field of study							
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67%	22.22%	0.00%	11.11%	0.00%	14.29% 9		1.
Q1: Associate degree	30.00%	66.67%	0.00%	3.33%	0.00%	47.62% 30		1.
Q1: Bachelor's degree	54.17%	45.83% 11	0.00%	0.00%	0.00%	38.10% 24		1.
Your growth in ability to comm	unicate							
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67%	11.11%	0.00%	11.11%	11.11%	14.29% 9		1.
Q1: Associate degree	23.33%	66.67%	6.67%	0.00%	3.33%	47.62% 30		1.
Q1: Bachelor's degree	70.83%	29.17%	0.00%	0.00%	0.00%	38.10%		

	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67% 6	22.22% 2	0.00%	11.11% 1	0.00%	14.29% 9		1.5
Q1: Associate degree	27.59% 8	65.52% 19	3.45% 1	0.00%	3.45% 1	46.03% 29		1.8
Q1: Bachelor's degree	66.67% 16	33.33% 8	0.00%	0.00%	0.00%	38.10% 24		1.3
Your growth in understanding	cultural diversity							
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67% 6	11.11% 1	0.00%	11.11% 1	11.11% 1	14.29% 9		1.8
Q1: Associate degree	26.67% 8	53.33% 16	10.00%	0.00%	10.00%	47.62% 30		2.1
Q1: Bachelor's degree	62.50% 15	25.00% 6	0.00%	0.00%	12.50%	38.10% 24		1.7
Classroom facilities and equip	ment							
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	44.44%	22.22%	0.00%	22.22%	11.11% 1	14.29% 9		2.3
Q1: Associate degree	16.67% 5	43.33% 13	3.33%	3.33% 1	33.33% 10	47.62% 30		2.9
Q1: Bachelor's degree	45.83% 11	8.33% 2	0.00%	0.00%	45.83% 11	38.10% 24		2.9
Library resources								
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	33.33%	22.22%	11.11%	11.11%	22.22%	14.29% 9		2.6
Q1: Associate degree	20.00%	43.33% 13	16.67%	0.00%	20.00%	47.62% 30		2.5
Q1: Bachelor's degree	37.50% 9	29.17% 7	4.17% 1	0.00%	29.17% 7	38.10% 24		2.5
Quality of academic advising								
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
Q1: Certificate of Achievement	66.67%	0.00%	22.22%	11.11%	0.00%	14.29%		1.7
Q1: Associate degree	30.00%	50.00% 15	13.33%	6.67%	0.00%	47.62% 30		1.9
Q1: Bachelor's degree	66.67%	20.83%	12.50%	0.00%	0.00%	38.10% 24		1.4
Your total educational experies	nce at GBC							
	VERY SATISFIED	SATISFIED	DISSATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE	
			44 440/	11.11%	0.00%	14.29%		
Q1: Certificate of Achievement	55.56% 5	22.22%	11.11%	1	0	9		1.7
					0.00%	9 47.62% 30		1.7

Q7 Did you experience any student access barriers in your path to graduation (check all that apply)?

Answered: 27 Skipped: 76

	ADVISING	FINANCIAL AID	ACCESS TO HIGHER LEVEL COURSES	FINANCIAL PRESSURES	MENTAL HEALTH	TECHNOLOGY ISSUES	TUTORING	TOTAL
Q1: Certificate of Achievement	20.00%	20.00%	0.00%	20.00%	40.00% 2	20.00% 1	20.00%	25.93% 7
Q1: Associate degree	30.77% 4	30.77% 4	7.69% 1	30.77% 4	30.77% 4	23.08%	15.38% 2	81.48% 22
Q1: Bachelor's degree	33.33%	11.11%	11.11%	22.22%	44.44% 4	0.00%	22.22%	48.15% 13
Total Respondents	8	6 PLEAS	2 E SPECIFY OR COMMENT O	7 N THE BARRIERS Y	10 OU ENCOUNTE	4 RED:	5	27 TOTAL
Q1: Certificate of Achi	evement						2	2
Q1: Associate degree							5	5
Q1: Bachelor's degree							6	6

Q8 GBC's mission is to transform lives through education. Please rate your level of satisfaction with the following statements.

Answered: 63 Skipped: 40

	VERY SATISFIED	SATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE
Q1: Certificate of Achievement	55.56% 5	11.11% 1	22.22%	11.11%	14.29% 9	1.89
Q1: Associate degree	30.00%	53.33% 16	6.67%	10.00%	47.62% 30	1.97
Q1: Bachelor's degree	66.67% 16	29.17% 7	4.17%	0.00%	38.10% 24	1.38
I believe that the programs offered	by GBC contribute posi	tively to life trans	sformation.			
	VERY SATISFIED	SATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE
Q1: Certificate of Achievement	55.56% 5	22.22% 2	11.11%	11.11%	14.29% 9	1.78
Q1: Associate degree	30.00%	60.00% 18	6.67%	3.33%	47.62% 30	1.83
Q1: Bachelor's degree	70.83% 17	25.00% 6	4.17% 1	0.00%	38.10% 24	1.3
I have observed positive changes	in my life as a result of t	the educational e	experiences provided by GB	C.		
	VERY SATISFIED	SATISFIED	VERY DISSATISFIED	DOES NOT APPLY	TOTAL	WEIGHTED AVERAGE
Q1: Certificate of Achievement	55.56% 5	11.11% 1	22.22%	11.11% 1	14.29% 9	1.89
Q1: Associate degree	30.00% 9	50.00% 15	6.67%	13.33%	47.62% 30	2.03
Q1: Bachelor's degree	66.67%	33.33%	0.00%	0.00%	38.10%	1.3